GROUP F

ENCLOSURE 4.2L G3 TELECOM

EXPLODED VIEW:
DRAWING #: 066959

SEE NOTE (3)

SEE NOTE (3)

Jqiiiin
</ Zqpiiniy

\ STATES FOAM IS ON FAR SIDE

~/

Jaraiai
Jaiiiiig

Q STATES FOAM IS ON NEAR SIDE

(

REVISION: H-1558-C
DATE: 1/11/08

PAGE10F2



EXPLODED VIEW: ENCLOSURE 4.2L G3 TELECOM

DRAWING #: 0G6959

APPLICABLE TO:

ITEM PART # QTY. DESCRIPTION
1 0G46640AL08 1 DUCT AIR REAR TOP
2 0C2454 55 SCREW THF M6-1 X 16 N WA Z/JS
3 OF5849AG 2 DOOR C2 ALUM GRAY

(1) 4 077992 5 NUT HEX LOCK M6-1.0 SS NY INS
5 0F3890A 6 RETAINER INSULATION (740)
6 0F6647 2 DISCHARGE DUCT L/H & R/H SIDE
7 0F6642 2 FRONT CORNERS
8 0F6650 1 DISCHARGE DUCT MIDDLE
9 051716 2 NUT HEX M5-0.8 G8 CLEAR ZINC
10 022769 2 WASHER SHAKEPROOF INT #10
1 0F6644 1 ROOF
12 0E5968 1 GASKET EXTRUDED TRIM (158.50” LG)
13 0F5048D 2 VISE-ACTION LATCH SLOTTED CIR
14 022127 1 NUT HEX 1/4-20 STEEL
15 022097 1 WASHER LOCK M6-1/4
16 0F5049 2 TAB PULL
17 0C2634A 1 ASSEMBLY COVER ACCESS
18 051713 2 WASHER FLAT M5
19 052619 2 SCREW HHC M5-0.8 X 20 G8.8
20 0912970100 2 ASSY WIRE 14AWG 48.0" GRN/YLW
21 0G6953G 2 INSUL, SIDE SUPPORT
22 078115 12 WASHER SELF LOCKING DOME
23 0G45170AL08 1 DUCT AIR REAR WRAP
24 0G5892A 1 INSULATION ROOF TOP
25 089961 2 FOAM STRIP 3/4" WIDE X 3/16" THK (144" LG)
26 029289 4 TAPE ELEC 1/2 FOAM (40” LG)
27 029289 2 TAPE ELEC 1/2 FOAM (8” LG)
28 029289 1 TAPE ELEC 1/2 FOAM (33.187” LG)
29 0G45130AL08 1 BAFFLE AIR ANGULAR
30 0F8869D 1 KEY VISE-ACTION LATCH SLOT CIR
31 049226 2 WASHER LOCK M5
32 022473 1 WASHER FLAT 1/4-M6 ZINC
33 0G45200ST03 1 COVER BASE REAR

(2) 34 0G3746 4 PLUG DOME 2.5” BLACK
35 0G45140AL08 1 BAFFLE AIR VERTICAL
36 0G45150AL08 1 CORNER POST LH REAR
37 0G45160AL08 1 CORNER POST RH REAR
38 0G45180AL08 1 BRACE TOP REAR
39 0G45190AL08 1 BLOCK OFF BOTTOM REAR
40 029289 2 TAPE ELEC 1/2 FOAM (11”LG)
4 029289 1 TAPE ELEC 1/2 FOAM (32"LG)
42 0G6953A 1 INSUL, FRONT WRAP
43 0G6953B 1 INSUL, FRONT ROOF
44 0G6953C 1 INSUL, REARDUCT
45 0G6953D 1 INSUL, TOP DUCT
46 0G6953E 2 INSUL, REAR SIDE DUCT
47 0G6953F 2 INSUL, SIDE DUCT
48 0G6953H 1 INSUL, INSIDE BAFFLE
49 0G5892 2 INSULATION DOOR C2
50 0C9724 AR CAULK CLIMACEL CLEAR
51 0E5298L 1 FOAM 300 X 300 THERMAL ACO

REVISION: H-1558-C

DATE: 1/11/08

(1) ALUMINUM ENCLOSURE NOTE: ALL ENCLOSURE PANELS THAT FASTEN TO
THE BASE FRAME MUST BE SECURED USING ITEM 2, THREAD FORMING
FASTENER AND ITEM 4 LOCK NUT. LOCK NUT IS TO BE INSTALLED AFTER
THREAD FORMING FASTENER HAS PENETRATED THROUGH EXTRUSIONS IN
ENCLOSURE PANELS.

(2) ITEM 34 (PLUG DOME 2.5” BLACK) IS USED AFTER SHIPPING. HOLES ARE
TO REMAIN UNCOVERED FOR SHIPPING PURPOSES. PLUGS CAN BE FOUND IN
THE MANUAL BAG.

(3) CAULK CORNERS FROM INSIDE BEFORE ASSEMBLY.

(4) CAULK SEAM AFTER ASSEMBLY.

SPECIAL NOTE: LEAVE ALL ENCLOSURE FASTENERS LOOSE UNTIL DOORS
ARE FITTED. AFTER DOORFIT IS ACHIEVED TIGHTEN ALL FASTENERS.

GROUP F

PAGE2 OF 2



